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Seating Arrangement Questions Overview

Seating Arrangement Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Seating Arrangement Questions.

Seating Arrangement Questions

Direction: Read the given information carefully and answer the following questions. Eight persons are sitting in two rows
such that each person from row 1 is facing someone from row 2. Z, M, V, and P are sitting in row 1 facing the south while
C, O, Q, and Y are sitting in row 2 facing north but not necessarily in the same order. O and Q both do not sit at any
extreme end of the row. Y is facing the person who is sitting immediately left of V. Only one person sits between Z and V,
who is opposite Q. C is sitting at an extreme end and faces the person who is second to the right of V. M sits in one of the
middle seats.

Question

Who is sitting opposite O?

Difficulty : Moderate Average Time: 63 Seconds

Options :
1.z

2.V
3. P
4. M

5. Cannot be deteremined

Solution

The correct answer is Option 4 i.e. M

O and Q both do not sit at any extreme end of the row. (This means they both sit in the middle seats of row 2. Either O or
Q sits second from the left end of the row and vice versa).

Y is facing the person who is sitting immediately left of V. (This means Y sits at the extreme right end of the row).
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Only one person sits between Z and V, who is opposite Q. (This means Q sits second from the right end and O sits second
from the left end. Z sits at the extreme right end of row 1).

C is sitting at an extreme end and faces the person who is second to the right of V.
M sits in one of the middle seats. (This means M sits between Z and V and P sits at the extreme left end of row 1).

This is our final arrangement:

M is sitting opposite O.

Hence, the correct answer is M.
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